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2) BTHRERCRIEDRE
A) WERE I 900 X 700 mm
o) MR 4.100 mOMYHETRE 2.950 m¥ET
18 T B b A
[ FEAnES 604X 2.950 m/ 18%y= 9.8 m/h]|
o
T% ( 7.06 kN/mi ) »») a2 Y—F Wiz ) — b
T W6=  720.0 kg/nf (Wo= 2400 kg/n’)
g (2354 kN/n*)
( 18.83 kN/mi ) =) fEHEHM  HEK A1 2mm7= TfE W
W5= 1920.0 kg/ni PRI T3 (O-60%60%2.7)
3 St i
( 30.60 kN/nf ) =g @RS T
=1 W4=3120.0 kg/ni
% 8 &) DR
( 39.55 kN/mf )
- W3=  4032.0 kg/m H=0~1.5m¥ T W=WoH
w0
= ( 45.90 kN/nf ) .bm<H< 2.95m W=1.5%=+0.6W (H—1.5)
y W2= 4680.0 kg/ni
o H:WE2AELLD ET5 LRI
| ( 52.26 kN/nf ) fIbiAENL a7V — bOES
D Wl= 5328.0 kg/nf
WO0=5688.0 kg/ni
( 55.79 kN/ni )



No.

3) HEROHE (HM El2mm/z THEW)
( 0.56 kN/cm ) EFEOMT W= 5688.0 kg/m
W= 56.9 kg/cm (  55.79 kN/mi )
:.%ng?sgc %%#ﬁmi W= 56.9 kg/cm
( 0.56 kN/cm )
20cm M=w*/10 = 2276.0 kg-cm
( 22.40 kNecm )
P E Q=3wl/5 = 682.8 kg
0= 20 cm [ 6.72 kN )
A= 120 en’ LOb=MZ = 948 kefem! <fh= 100 ke/em’ - 0K
T 24 cm’ ( 0.93 kN/cm®) ( 0.98 kN/em* )
L= 4.4 cn' LTeQUA T 8.5 kefem <fs= 12 ke/em - 10K
0.98 kN/cm*|fb= 100 kg/cm? ( 0.08 kN/cm®) ( 0.12 kN/cm® )
0.12 kN/cm'|fs= 12 kg/ew’[ 8 =3w@i/384E T =...0.123 em__ . <o8f=__.0.2cm ___.::: OK
of = 0.2 cm
392.3 kN/cn’|E = 40000 kg/cm®
4) NI AOFHE (1 —7430-60X60X2.7)
—ErH OM/IE Wl= 5328.0 kg/nt
( 52.3 kN/mt )
( 0.10 kN/cm ) TEHOME W2=4680.0 kg/ni
w= 10.0 kg/cm ( 45.9 kN/ni )
:%ch%c —WLQ{RHE“ W= 5004.0 kg/mg
( 49.08 kN/nf )
45em ESMWE w= 10.0 kg/cm
( 0.10 kN/cm )
[ SR M=w0*/10 = 2025.0 kg-cm
0= 45 cm (  20.25 kN-.cm)
A= 3.5 cm’ Q=3wl /5 = 270.0 kg
7= 12.48  cn ( 2.70 kN )
[= 3745  cn’ Lob=MAZ =..162.3 kefem’ < fb= 1500 ke/cm - 0K
14.71 kN/cm’|fb= 1500 kg/cm® ( 1.62 kN/cm® ) ( 14.71 kN/cm® )
9.81 kN/em®|fs= 1000 kg/cm* LEEQAALLLTLLLIT L kefom’ <fs= 1000 keg/em’ - 20K
5f=  0.225 cm (770,77 kN/em') (779.81 kN/cm® )
6864. 7 kN/ew’|E= 700000 ke/cm’| § =3w0!/384E T =....0012 em_ . <O6f=0.225¢em_ ____:- -OK
{ 0.24 kN/cm )
w=  24.0 kg/cm 5) AABAOEE (1 —7MO-60X60%2.7)
R S . 5
I E W= 5328.0 kg/m
Q.= I%m Q1:700m 77770'0’3-'* 10cm ( 52. 26 kN/Hle )
. 90cm L BAOTAIHE w= 24,0 kg/cm
" ~ ( 0.24 kN/em )
LT T M=w0'/8—w0i/2 = 13500.0 kg-em
M M= 13500.0 kg-cm ( 135.00 kN-cm )
( 135.00 kN:-cm ) Q=w0/2 = 840.0 kg
e . (840 kKN )
QR — I i LGb=M/Z = 10817 kg/em’ <fh= 1500 kg/cm’ - 0K
Q= 840.0 kg (  10.82 kN/cm®) ( 14.71 kN/cm® )
(840 KN ) L EEQLALL 2400 kefem® <fs= 1000 kg/cm - - :0K
Bl S ( 2.40 kN/cm®) ( 9.81 kN/em® )
0= 70 em{  § =owei/384E T =....0.286_cm______ <éf= .. 0.3¢em . &% 0K
Q2= 10 cm
A= 3.5 cm’
7z = 12. 48 cm’
[ = 37.45 cm'
14.71 kN/em®|fh= 1500 kg/cm
9.81 kN/cm*|fs= 1000 kg/cm’
of= 0.3 cm
6864.7 kN/em|E= 700000 kg/cm*




6) BN L—F—DFE

WO= 5688.0 kg/nf|( 55.79 kN/umi) BTihE 1EHOEHME WO = 5508.0 kg/m( 54.03 kN/m)
WI1= 5328.0 kg/nf|( 52.26 kN/ni) 1E:¥HA & 2B EOEHME WI'= 50040 kg/m( 49.08 kN/mi)
W2= 4680.0 kg/nf|( 45.90 kN/nf) 2E¢H & 3EEEOFHME W2 =  4356.0 kg/mi( 42.73 kN/m)
W3= 4032.0 kg/ni|( 39.55 kN/nf) 3E:H & 4BEOFEHME W3 = 3576.0 kg/mi( 35.08 kN/mni)
W4= 3120.0 kg/nf|( 30.60 kN/ni) 4E¥H & 5EXE OEHMIE W4 = 2520.0 kg/mi( 24.72 kN/nf)
W5= 1920.0 kg/ni|( 18.83 kN/nf) 5ErH & 6 BxHOFEHMIE W5 =  1320.0 kg/ni( 12.95 kN/ni)
W6=_720.0 kg/ni|( 7.06 kN/ni) 6 FxH & LHoEHME W6 = 360.0 kg/mi(  3.53 kN/nf)
1EHMAE Wi=W0 +W1') /2= 5256.0 kg/ni( 51.56 kN/ni)
OEEHME W2=(WL1 +W2')/2= 4680.0 kg/ni( 45.91 kN/ni)
SEEEME W3=(W2 +W3)/2= 3966.0 kg/ni( 38.91 kN/mui)
ABRBMTE W4= (W3 +W4' ) /2= 3048.0 ke/mi( 29.90 kN/mi)
5EEEMIE Wh= (W4 +W5 ) /2= 1920.0 kg/m( 18.84 kN/m)
6EXEHME W6=(W5 +W6)/2=  840.0 keg/ni( 8.24 kN/ni)
1EHOXEmEE Al= 0.475 X 0.450 = 0.214 nof
3 QBB OFEER A2= 0.450 X 0.450 = 0.203 nf
= SECRORECERE A3= 0.475 X 0.450 = 0.214 nf
ABFAOFE mAE Ad= 0.500 X 0.450 = 0.225 ni
5B HOLMmfE A5S= 0.500 X 0.450 = 0.225 nf
= 6EXHMOTREFE A6= 0.550 X 0.450 = 0.248 nf
=
o o|—
S AERE  TIZWIXAl= 11248 kg <Tf= __ 1400 kg __...:- 0K
= (711.03 kN ) (718 73 RN
° o 2BH T2=W2xA2=_950.0 kg <If=___ . 1400 kg . :- “O0K
= ( 9.32 kN) ( 13.73 kN)
- BEH T3=W3xXA3= _848.7 kg <If=._ . _. 1400 kg . .:: 0K
° i = ( 833 kN) (  13.73 kN)
450 . 450 S < AEBH T4=W4xXAd= 6858 kg <If= . 1400 kg . .:: 0K
o N ( 6.73 kN) ( 13.73 kN)
° ° i SEH To=W5XAb= 4320 kg <If=___ . 1400 kg  _...:- 0K
B ( 4.24 kN) ( 13.73 kN)
= // AT BBH  TE=W6XAG= 2083 kg <If=___ 1400 kg __ .:- 0K
< 2SS ( 2.04 kN) ( 13.73 kN)
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